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�<>?>7<O 3 =4G>4 > 6<7=< 

1.1. �<>?>7<O >4> =4G>4. $>?L 5<>?>7<<. 
1.2. �D<7=4>< < E6>=EF64 6<6>7>. 
1.3. �E=>6=O5 GD>6=< >D74=<74F<< 6<6>= ?D<D>4O. 
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2.1. �?5F>G=4O F5>D<O. $476<F<5 7=4=<= > >?5F>5. 
2.2. �?5F>4 3 54<=<F4 EFD>5=<O, 6<7=545OF5?L=>EF<, D>EF4 < D476<F<O 

>D74=<7<>6. %D46=<F5?L=4O E4D4>F5D<EF<>4 >?5F>> D4EF5=<=, 6<6>F=OE, 
54>F5D<=, 7D<5>6. 

2.3. %<<<G5E>4O >D74=<74F<O >?5F><. 
2.3.1. �5>D74=<G5E><5 65M5EF64 >?5F><. 
2.3.2. �D74=<G5E><5 65M5EF64 >?5F><: G7?56>4O, ?<?<4O. 
2.3.3. �D74=<G5E><5 65M5EF64 >?5F><: 55?><. 
2.3.4. �D74=<G5E><5 65M5EF64 >?5F><: =G>?5<=>6O5 ><E?>FO. 

2.4. %FD>5=<5 ?D>3 < MG>4D<>F<G5E>>= >?5F>>. 
2.5. �5F45>?<7<. 

2.5.1. -=5D75F<G5E><= < ??4EF<G5E><= >5<5=. 
2.5.2. �<EE<<<?OF<O. 
2.5.3. $>F>E<=F57 < E5<>E<=F57. 

2.6. �<>E<=F57 55?>4 < =G>?5<=>6OE ><E?>F. �5=O, 75=5F<G5E><= >>4. 

2.7. �?5F>4 3 75=5F<G5E>4O 54<=<F4 6<6>7>. %D><>E><O. �<7=5==O= F<>? 
>?5F><. �<F>7. �5=>7. 
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�D74=<7< >4> 5<>?>7<G5E>4O E<EF5<4 

3.1. $47=>>5D47<5 >D74=<7<>6. �<DGEO 3 =5>?5F>G=O5 D>D<O. 
3.2. �>E?D><76545=<5 >D74=<7<>6. 
3.3. �=F>75=57. 
3.4. �5=5F<>4. �E=>6=O5 75=5F<G5E><5 ?>=OF<O. 
3.5. �4>>=><5D=>EF< =4E?54EF65==>EF<. 
3.6. �7<5=G<6>EFL ?D<7=4>>6 G >D74=<7<>6. 
3.7. �D54=>5 6?<O=<5 <GF475=>6, 4?>>7>?O, =4D>>F<>>6, =<>>F<=4 =4 

75=5F<G5E><= 4??4D4F >?5F><. �4E?54EF65==O5 5>?57=< G5?>65>4. 
3.8. %5?5>F<O. �=4G5=<5 75=5F<>< 4?O E5?5>F<<. 

3.8.1. �5=5F<>4 < E5?5>F<O. 
3.8.2. �5F>4O D45>FO �.�. �<GGD<=4. 
3.8.3. &5=FDO ?D><EE>645=<O >G?LFGD=OE D4EF5=<=. 
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3.9. �<>F5E=>?>7<O, >?5F>G=4O < 75==4O <=65=5D<O, >?>=<D>64=<5. 
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�=>7>>5D47<5 >D74=<7<>6, <E EFD>5=<5 < 6<7=545OF5?L=>EFL 

4.1. %6>=EF64 6<6OE E<EF5<. 
4.1.1. �<6>5 65M5EF6>, 57> E6>=EF64. 'D>6=< >D74=<74F<< 6<7=<. 
�5F>4O 5<>?>7<<. 
4.1.2. $476<F<5 < M6>?NF<O 6<6>7> 65M5EF64. �=F>75=57 < D<?>75=57. 
�4>>=O < F5>D<< 5<>?>7<<. 

4.2. �?4EE<D<>4F<< 5<>E<EF5<. �<7L<5 >D74=<7<O. 
4.2.1. %<EF5<4F<G5E>4O < M>>?>7<G5E>4O >?4EE<D<>4F<< >D74=<7<>6. 
%<EF5<4F<G5E><5 >4F57>D<< < F4>E>=O. 
4.2.2. &4DEF64 < =44F4DcF64 6<6OE >D74=<7<>6. �<4O < ?>?G?OF<< 
>D74=<7<>6. 
4.2.3. �4>F5D<<, �D>EF5=L<5, �D<5O, < �<L4==<><. 

4.3. �=>7>>5D47<5 < >?4EE<D<>4F<O D4EF5=<= < 6<6>F=OE. 
4.3.1. �>>DOF>E5<5==O5 D4EF5=<O. &>4=< D4EF5=<=. %FD>5=<5 < 
=47=4G5=<5 >D74=>6 D4EF5=<=. 
4.3.2. �=>7>>5D47<5 D4EF5=<=. �F45?O E?>D>6OE: <E<, ?4?>D>F=<><, 
E6>M< < ??4G=O. �<7=5==O5 F<>?O E?>D>6OE D4EF5=<=. 
4.3.3. %5<5==O5 D4EF5=<O. �<7=5==O5 F<>?O E5<5==OE D4EF5=<=. 
�>?>E5<5==O5. �F45?O ?>>DOF>E5<5==OE. �??>4>F6>D5=<5 G F65F>>6OE 
D4EF5=<=. %5<5=EF64 F65F>>6OE D4EF5=<=. 
4.3.4. -6>?NF<O D4EF<F5?L=>EF<. �4?D46?5=<O M6>?NF<<. 
4.3.5. �F?<G<F5?L=O5 ?D<7=4>< 6<6>F=OE. �=>7>>?5F>G=O5 6<6>F=O5. 
4.3.6. �74<<>45=EF6<5 D4EF5=<= < 6<6>F=OE E D4>F>D4<< >>DG64NM5= 
ED54O. %FD4F57<< 6O6<64=<O >D74=<7<>6. 
4.3.7. &<?O 55E?>76>=>G=OE 6<6>F=OE: �<L5G=>?>?>EF=O5, F<?O 
??>E><E, >DG7?OE < >>?LG4FOE G5D65=, �>??NE><. �?4EEO F<?4 
'?5=<EF>=>7<5 - D4>>>5D47=O5, ?4G>>>5D47=O5, =4E5>><O5. %?>E>5O 
D476<F<O 55E?>76>=>G=OE =4 ?D<<5D4E >FDO4>6 =4E5>><OE. 
4.3.8. �?4EE<D<>4F<O ?>76>=>G=OE 6<6>F=OE. %>D4>6O5 6<6>F=O5. 
%4D4>F5D<EF<>4 >?4EE>6 4<=<>F < 4=4<=<=. �?4EEO 4<D<5<< < 
D5?F<?<<. �F<FO < �?5>>?<F4NM<5. 
4.3.9. �4?D46?5=<O M6>?NF<< < 444?F4F<O 6<6>F=OE > ED544< >5<F4=<O. 
�<>F<G5E><5 >F=>L5=<O 6<6>F=OE. �=4G5=<5 6<6>F=OE 6 M>>E<EF5<4E. 
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'5?>65> < 57> 74>D>6L5 

5.1. &>4=<. %FD>5=<5 < 6<7=545OF5?L=>EFL >D74=>6 < E<EF5< >D74=>6: 
?<M564D5=<O, 4OE4=<O, >D>6>>5D4M5=<O, ?<<D4F<G5E>>= E<EF5<O 

5.1.1. �=4F><<O < D<7<>?>7<O G5?>65>4. &>4=<. 
5.1.2. %FD>5=<5 < DG=>F<< ?<M564D<F5?L=>= E<EF5<O. 
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5.1.3. %FD>5=<5 < DG=>F<< 4OE4F5?L=>= E<EF5<O. 
5.1.4. %FD>5=<5 < DG=>F<< 6O45?<F5?L=>= E<EF5<O. 

5.2. %FD>5=<5 < 6<7=545OF5?L=>EFL >D74=>6 < E<EF5< >D74=>6: >?>D=>-

46<74F5?L=>=, ?>>D>6=>=, >D>6>>5D4M5=<O, ?<<D>>5D4M5=<O. $47<=>65=<5 < 
D476<F<5 G5?>65>4. 

5.2.1. %FD>5=<5 < DG=>F<< >?>D=>-46<74F5?L=>= E<EF5<O. 
5.2.2. �>64, 55 EFD>5=<5 < DG=>F<<. 
5.2.3. %FD>5=<5 < DG=>F<< E<EF5<O >D74=>6 >D>6>>5D4M5=<O < 
?<<D>>5D4M5=<O. 
5.2.4. $47<=>65=<5 < D476<F<5 >D74=<7<4 G5?>65>4. 

5.3. �=GFD5==OO ED544 >D74=<7<4 G5?>65>4. �<<G=<F5F. �5<5= 65M5EF6 < 
?D56D4M5=<5 M=5D7<< 6 >D74=<7<5 G5?>65>4   . 

5.3.1. �=GFD5==OO ED544 >D74=<7<4. %>EF46 < DG=>F<< >D>6<. �DG??O 
>D>6<. �5D5?<64=<5 >D>6<. �<<G=<F5F. 
5.3.2. �5<5= 65M5EF6 6 >D74=<7<5 G5?>65>4. 

5.4. �5D6=4O < M=4>>D<==4O E<EF5<O. �5=D>7G<>D4?L=4O D57G?OF<O 
?D>F5EE>6 6<7=545OF5?L=>EF< >D74=<7<4 >4> >E=>64 57> F5?>EF=>EF<, E6O7< E> 
ED54>=. 

5.4.1. �5D6=4O E<EF5<4. �5M<= ??4= EFD>5=<O. $G=>F<<. 
5.4.2. %FD>5=<5 < DG=>F<< F5=FD4?L=>= =5D6=>= E<EF5<O. 
5.4.3. %FD>5=<5 < DG=>F<< 6575F4F<6=>= =5D6=>= E<EF5<O. 
5.4.4. -=4>>D<==4O E<EF5<4. �5=D>7G<>D4?L=4O D57G?OF<O ?D>F5EE>6 
6<7=545OF5?L=>EF<. 

5.5. �=4?<74F>DO. �D74=O GG6EF6. �OEL4O =5D6=4O 45OF5?L=>EFL. 
5.5.1 �D74=O GG6EF6 (4=4?<74F>DO). %FD>5=<5 < DG=>F<< >D74=>6 7D5=<O 
< E?GE4. 
5.5.2. �OEL4O =5D6=4O 45OF5?L=>EFL. 

5.6. �<G=4O < >5M5EF65==4O 7<7<5=4, 74>D>6O= >5D47 6<7=<. �D<5<O 
>>474=<O ?5D6>= ?><>M<. 
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�44>D74=<7<5==O5 E<EF5<O. -6>?NF<O >D74=<G5E>>7> <<D4 

6.1. �<4, 57> >D<F5D<< < EFDG>FGD4. �>?G?OF<O 3 EFDG>FGD=4O 54<=<F4 6<44 
< M?5<5=F4D=4O 54<=<F4 M6>?NF<<. %?>E>5O 6<4>>5D47>64=<O. �<>D>M6>?NF<O. 

6.2. $476<F<5 M6>?NF<>==OE <45=. �6<6GM<5 E<?O, M?5<5=F4D=O5 D4>F>DO 
M6>?NF<<. %<=F5F<G5E>4O F5>D<O M6>?NF<<. 

6.2.1. $476<F<5 M6>?NF<>==OE <45=. �=4G5=<5 D45>F �. �<==5O, GG5=<O 
�.-�. �4<4D>4, M6>?NF<>==>= F5>D<< '. �4D6<=4. �74<<>E6O7L 
46<6GM<E E<? M6>?NF<<. -?5<5=F4D=O5 D4>F>DO M6>?NF<<. 
6.2.2. &6>DG5E>4O D>?L 5EF5EF65==>7> >F5>D4. %<=F5F<G5E>4O F5>D<O 
M6>?NF<<. �EE?54>64=<O %.%. '5F65D<>>64. $>?L M6>?NF<>==>= F5>D<< 
6 D>D<<D>64=<< E>6D5<5==>= 5EF5EF65==>=4GG=>= >4DF<=O <<D4. 

6.3. $57G?LF4FO M6>?NF<<. �>>474F5?LEF64 M6>?NF<< 6<6>= ?D<D>4O. 
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6.4. �4>D>M6>?NF<O. �4?D46?5=<O < ?GF< M6>?NF<<. �<>?>7<G5E><= 
?D>7D5EE < D57D5EE, 4D><>DD>7, <4<>444?F4F<O, 4575=5D4F<O. �D<G<=O 
5<>?>7<G5E>>7> ?D>7D5EE4 < D57D5EE4. �<?>F57O 6>7=<>=>65=<O 6<7=< =4 �5<?5. 
-6>?NF<O >D74=<G5E>>7> <<D4. �E=>6=O5 4D><>DD>7O 6 M6>?NF<< D4EF5=<= < 
6<6>F=OE. 

6.5. �D><EE>645=<5 G5?>65>4. '5?>65> >4> 6<4, 57> <5EF> 6 E<EF5<5 
>D74=<G5E>>7> <<D4. �<?>F57O ?D><EE>645=<O G5?>65>4. �6<6GM<5 E<?O < MF4?O 
M6>?NF<< G5?>65>4. '5?>65G5E><5 D4EO, <E 75=5F<G5E>>5 D>4EF6>. �<>E>F<4?L=4O 
?D<D>44 G5?>65>4. 
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->>E<EF5<O < ?D<EGM<5 << 74>>=><5D=>EF< 

7.1. %D54O >5<F4=<O >D74=<7<>6. $4>F>DO ED54O. �4>>=O >?F<<G<4 < 
<<=<<G<4. �<>?>7<G5E><5 D<F<O. $>F>?5D<>4<7<. 

7.2. ->>E<EF5<4, 55 >><?>=5=FO, EFDG>FGD4. &5?< < E5F< ?<F4=<O, <E 765=LO. 
�D46<?> M>>?>7<G5E>>= ?<D4<<4O. %FDG>FGD4 < 4<=4<<>4 G<E?5==>EF< 
?>?G?OF<=. 

7.3. $47=>>5D47<5, E4<>D476<F<5, E<5=4 M>>E<EF5<. �7D>M>>E<EF5<O, 
>E=>6=O5 >F?<G<O >F ?D<D>4=OE M>>E<EF5<. 

7.4. �DG7>6>D>F 65M5EF6 < ?D56D4M5=<O M=5D7<< 6 M>>E<EF5<4E. 
�<>?>7<G5E>>5 D47=>>5D47<5, E4<>D57G?OF<O < >DG7>6>D>F 65M5EF6 3 >E=>64 
GEF>=G<6>7> D476<F<O M>>E<EF5<. 

7.5. �<>ED5D4 3 7?>54?L=4O M>>E<EF5<4. 'G5=<5 �.�. �5D=44E>>7>. 
 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�4 6EFG?<F5?L=OE <E?OF4=<OE ?> 5<>?>7<< GG<FO64NFEO E?54GNM<5 
7=4=<O < G<5=<O 45<FGD<5=F4: 

2 E4D4>F5D<EF<>4 E>45D64=<O 5<>?>7<G5E><E F5>D<= (>?5F>G=4O, 
M6>?NF<>==4O F5>D<O �4D6<=4); GG5=<O �5D=44E>>7> > 5<>ED5D5; 74>>=>6 
�5=45?O, 74>>=><5D=>EF5= <7<5=G<6>EF<; 6>?444 6O44NM<EEO GGU=OE 6 D476<F<5 
5<>?>7<G5E>>= =4G><;  

2 6O45?5=<5 EGM5EF65==OE ?D<7=4>>6 5<>?>7<G5E><E >5N5>F>6 (>?5F>>: 
D4EF<F5?L=OE < 6<6>F=OE, 4>O45D=OE < O45D=OE, ?>?>6OE < E><4F<G5E><E; 
>D74=<7<>6: >4=>>?5F>G=OE < <=>7>>?5F>G=OE; 6<4>6, M>>E<EF5<, 5<>ED5DO) < 
?D>F5EE>6 (>5<5= 65M5EF6, D47<=>65=<5, 45?5=<5 >?5F><, >??>4>F6>D5=<5, 
45=EF6<5 <E>GEEF65==>7> < 5EF5EF65==>7> >F5>D>6, D>D<<D>64=<5 
?D<E?>E>5?5==>EF<, >5D47>64=<5 6<4>6, >DG7>6>D>F 65M5EF6 < ?D56D4M5=<O 

M=5D7<< 6 M>>E<EF5<4E < 5<>ED5D5);  
2 >5NOE=5=<5 D>?< 5<>?>7<< 6 D>D<<D>64=<< =4GG=>7> <<D>6>77D5=<O; 

6>?444 5<>?>7<G5E><E F5>D<= 6 D>D<<D>64=<5 E>6D5<5==>= 5EF5EF65==>- =4GG=>= 
>4DF<=O <<D4; >FD<F4F5?L=>7> 6?<O=<O 4?>>7>?O, =<>>F<=4, =4D>>F<G5E><E 
65M5EF6 =4 D476<F<5 G5?>65>4; 6?<O=<O <GF475=>6 =4 >D74=<7< G5?>65>4, 
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M>>?>7<G5E><E D4>F>D>6 =4 >D74=<7<O; ?D<G<= M6>?NF<<, <7<5=O5<>EF< 6<4>6, 
=4DGL5=<= D476<F<O >D74=<7<>6, =4E?54EF65==OE 745>?564=<=, <GF4F<=, 
GEF>=G<6>EF< < E<5=O M>>E<EF5<;  

2 ?D<6545=<5 4>>474F5?LEF6 (4D7G<5=F4F<O) 54<=EF64 6<6>= < =56<6>= 
?D<D>4O, D>4EF64 6<6OE >D74=<7<>6; 674<<>E6O75= >D74=<7<>6 < >>DG64NM5= 
ED54O; =5>5E>4<<>EF< E>ED4=5=<O <=>7>>5D47<O 6<4>6;  

2 G<5=<5 ?>?L7>64FLEO 5<>?>7<G5E>>= F5D<<=>?>7<5= < E<<6>?<>>=;  
2 D5L5=<5 M?5<5=F4D=OE 5<>?>7<G5E><E 7444G; E>EF46?5=<5 M?5<5=F4D=OE 

EE5< E>D5M<64=<O < EE5< ?5D5=>E4 65M5EF6 < M=5D7<< 6 M>>E<EF5<4E (F5?< 
?<F4=<O);  

2 >?<E4=<5 >E>55= 6<4>6 ?> <>DD>?>7<G5E>><G >D<F5D<N;  
2 6OO6?5=<5 <7<5=G<6>EF<, ?D<E?>E>5?5=<= >D74=<7<>6 > ED545 >5<F4=<O, 

<EF>G=<>>6 <GF475=>6 6 >>DG64NM5= ED545 (>>E65==>), 4=FD>?>75==OE 
<7<5=5=<= 6 M>>E<EF5<4E E6>5= <5EF=>EF<; <7<5=5=<= 6 M>>E<EF5<4E =4 
5<>?>7<G5E><E <>45?OE;  

2 ED46=5=<5 5<>?>7<G5E><E >5N5>F>6 (E<<<G5E><= E>EF46 F5? 6<6>= < 
=56<6>= ?D<D>4O, 74D>4OL G5?>65>4 < 4DG7<E <?5>>?<F4NM<E, ?D<D>4=O5 
M>>E<EF5<O < 47D>M>>E<EF5<O E6>5= <5EF=>EF<), ?D>F5EE>6 (5EF5EF65==O= < 
<E>GEEF65==O= >F5>DO, ?>?>6>5 < 55E?>?>5 D47<=>65=<O) < D>D<G?<D>6>4 
6O6>4>6 =4 >E=>65 ED46=5=<O. 
 

III. �D<<5D=O5 64D<4=FO 7444=<= 

 

�444=<O >4F57>D<< � 

�O55D5F5 >4<= <?< =5E>>?L>> ?D46<?L=OE >F65F>6. 
�1. �O55D<F5 464 65D=OE >F65F4 <7 ?OF<. 

� 75=5F<G5E><< >F=>EOF F5D<<=O 

1) 4??5?L 

2) D<?>75=57 

3) D5=>F<? 

4) >>=EG<5=F 

5) 4<65D75=F<O 

 

�2. �E5 ?D<6545==O5 =<65 ?D<7=4><, >D><5 46GE, <>6=> <E?>?L7>64FL 4?O 
>?<E4=<O EFD>5=<O < DG=>F<= <<F>E>=4D<=. �?D545?<F5 464 ?D<7=4>4, 
«6O?444NM<E» <7 >5M57> E?<E>4. 

1) O6?O5FEO 46GE<5<5D4==O< >D74=><4>< 

2) <<55F E>5EF65==GN 74<>=GFGN <>?5>G?G ��� 

3) O6?O5FEO ?>?G46F>=><=O< >D74=><4>< 

4) D>D<<DG5F 65D5F5=> 45?5=<O 

5) 74?>?=5=4 >?5F>G=O< E>>>< E E4E4D>7>= 
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�3. �O55D<F5 FD< 65D=OE >F65F4 <7 L5EF<. 

� F>=>>< ><L5G=<>5 G5?>65>4 ?D><EE>4OF ?D>F5EEO 

1) 6OD45>F>4 ?>465?G4>G=>7> E>>4 

2) 6E4EO64=<5 6>4O 

3) 6E4EO64=<5 7?N>>7O 

4) D4EM5??5=<5 >?5FG4F>< 

5) D4EM5??5=<5 55?>>6 

6) 6E4EO64=<5 G5D57 6>DE<=>< 

 

�4. 'EF4=>6<F5 ?>E?54>64F5?L=>EFL 46<65=<O >D>6< 6 >D74=<7<5 G5?>65>4, 
=4G<=4O E ?56>7> 65?G4>G>4. �4?<L<F5 E>>F65FEF6GNMGN ?>E?54>64F5?L=>EFL 
F<DD. 
1) ?56O= 65?G4>G5> 

2) ?>?O5 65=O 

3) 4>DF4 

4) ?57>G=O5 65=O 

5) ?D46>5 ?D54E5D4<5 

 

�5. �O55D<F5 FD< 65D=OE >F65F4 <7 L5EF<. 
� ?D>4GF5=F4< >F=>EOF: 

1) ?D5E=>6>4=GN 7<4DG 

2) >G>GL><= ?5= 

3) F<4=>54>F5D<N 

4) L4<?<=L>= 

5) G?>FD<>E 

6) ??4=4D<N 

 

�6. 'EF4=>6<F5 ?>E?54>64F5?L=>EFL M6>?NF<>==OE ?D>F5EE>6, ?D><EE>4<6L<E =4 
�5<?5, 6 ED>=>?>7<G5E>>< ?>DO4>5. �4?<L<F5 E>>F65FEF6GNMGN 
?>E?54>64F5?L=>EFL F<DD. 
1) 6OE>4 >D74=<7<>6 =4 EGLG 

2) 6>7=<>=>65=<5 D>F>E<=F574 

3) D>D<<D>64=<5 >7>=>6>7> M>D4=4 

4) 45<>75==O= E<=F57 >D74=<G5E><E 65M5EF6 

5) ?>O6?5=<5 >?5F>G=OE D>D< 6<7=< 

 

�7. �<65 ?D<6545= ?5D5G5=L E4D4>F5D<EF<> <7<5=G<6>EF<. �E5 >=<, >D><5 46GE, 
<E?>?L7GNFEO 4?O >?<E4=<O E4D4>F5D<EF<> <GF4F<>==>= <7<5=G<6>EF<. �4=4<F5 
465 E4D4>F5D<EF<><, «6O?444NM<5» <7 >5M57> DO44. 
1) >5<5= 75=>6 =4 7><>?>7<G=OE ED><>E><4E 

2) FD4=E?>>4F<O 

3) G<5=LL5=<5 G<E?4 ED><>E>< 6 >4D<>F<?5 

4) 4G??<>4F<O 
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5) D5>><5<=4F<O 75=>6 ?D< >D>EE<=7>65D5 

 

�8. 'EF4=>6<F5 ?>E?54>64F5?L=>EFL ?D>F5EE>6, ?D><EE>4OM<E 6 <<F>75. 
�4?<L<F5 E>>F65FEF6GNMGN ?>E?54>64F5?L=>EFL F<DD. 
1) =<F< 65D5F5=4 45?5=<O ?D<>D5??ONFEO > >464>= ED><>E><5 

2) E?<D4?<74F<O ED><>E>< 

3) D>D<<DG5FEO O45D=4O >5>?>G>4 

4) D47DGL5=<5 O45D=>= >5>?>G>< 

5) 4>G5D=<5 ED><4F<4O D4EE>4OFEO > ?>?NE4< >?5F>< 

 

�9. �O55D<F5 FD< 65D=OE >F65F4 <7 L5EF<. 

� 45<>F<G5E><< D4>F>D4< >F=>EOF 

1) =46>4=5=<5 

2) 7D>7>6O5 D47DO4O 

3) ?4D47<F<7< 

4) >F?>6 DO5O 

5) E<M=<G5EF6> 

6) =54>EF4F>> E65F4 

 

�10. 'EF4=>6<F5 ?>E?54>64F5?L=>EFL D4E?>?>65=<O F4>E>=><<G5E><E =4764=<=, 
=4G<=4O E =4<<5=LL57>. �4?<L<F5 E>>F65FEF6GNMGN ?>E?54>64F5?L=>EFL F<DD. 
1) O5?>=O 4><4L=OO    4) O5?>=O 

2) D>7>F65F=O5    5) MG>4D<>FO 

3) D4EF5=<O    6) F65F>>6O5 

 

�444=<O >4F57>D<< � 

�4?<L<F5 >F65F < ?>OE=<F5 57>. 

�1. �4><5 ?D>F5EEO <7>5D465=O =4 D<EG=>4E � < �? �47>6<F5 EFDG>FGDG >?5F><, 
GG4EF6GNMGN 6 MF<E ?D>F5EE4E. �4><5 ?D5>5D47>64=<O 44?55 ?D><7>=4GF E 
54>F5D<5= =4 D<EG=>5 �? 

 

�2. �4><5 ?D>F5EEO >55E?5G<64NF ?>EF>O=EF6> 747>6>7> E>EF464 4F<>ED5DO 
(><E?>D>44, G7?5><E?>7> 7474, 47>F4)? �D<654<F5 =5 <5=55 FDUE ?D>F5EE>6 < 
?>OE=<F5 <E. 
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�3. �765EF=>, GF> 6 ??47<5 >D>6< >>=F5=FD4F<O D4EF6>D4 E>?5= 6 =>D<5 
E>EF46?O5F 0,9%. � EF5>?O==O= EF4>4=, 74?>?=5==O= D4EF6>D>< ?>64D5==>= E>?<, 
?><5EF<?< MD<FD>F<FO. %D46=<F5 <7>5D465=<5 =>D<4?L=>7> MD<FD>F<F4 6 ??47<5 
(D<E. �) < MD<FD>F<F4 6 D4EF6>D5 (D<E. �). �5NOE=<F5 =45?N445<>5 O6?5=<5. 
�?D545?<F5 >>=F5=FD4F<N E>?< 6 EF4>4=5 E D4EF6>D>< (5>?55 0,9%, <5=55 0,9%, 
D46=4 0,9%). 

 
 

�4. � >4><E ?D54?>65=<OE 4>?GM5=O >L<5><: 
(1)�E5 65?57O >D74=<7<4 G5?>65>4 45?OFEO =4 FD< 7DG??O: 65?57O 6=5L=5=, 
6=GFD5==5= < E<5L4==>= E5>D5F<<. (2)%5>D5FO, >5D47GNM<5EO 6> 6E5E 65?574E 
6=5L=5= E5>D5F<<, G5D57 6O6>4=O5 ?D>F>>< ?>EFG?4NF =4 ?>65DE=>EFL F5?4. 
(3)%5>D5FO 65?U7 6=GFD5==5= E5>D5F<< ?> ?D>F>>4< ?>EFG?4NF 6 >D>6L. 
(4)�5?57O 6=GFD5==5= E5>D5F<< 3 M=4>>D<==O5 65?57O 3 6O45?ONF 5<>?>7<G5E>< 
4>F<6=O5 D57G?OF>D=O5 65M5EF64 3 7>D<>=O. (5)�>D<>=O D57G?<DGNF >5<5= 
65M5EF6, 6?<ONF =4 D>EF < D476<F<5 >D74=<7<4, GG4EF6GNF 6 D57G?OF<< 6E5E 
>D74=>6 < E<EF5< >D74=>6, ?D>F5EE>6, ?D>F5>4NM<E =4 >?5F>G=>< GD>6=5. 
(6)�>D<>= ?>465?G4>G=>= 65?57O 3 <=EG?<= 3 D57G?<DG5F E>45D64=<5 7?N>>7O 6 
>D>6<. (7)�>D<>= M<F>6<4=>= 65?57O 3 44D5=4?<= 3 ?>6OL45F 6>75G4<<>EFL 
=5D6=>= E<EF5<O, GG4M45F E5D45G=O5 E>>D4M5=<O. 
 

�5. 'EF4=>6<F5 E>>F65FEF6<5 <564G E4D4>F5D<EF<>4<< ?D>F5EE4 < E?>E>54<< 
45?5=<O >?5F><: > >464>= ?>7<F<<, 44==>= 6 ?5D6>< EF>?5F5, ?>455D<F5 
E>>F65FEF6GNMGN ?>7<F<N <7 6F>D>7> EF>?5F4. 
 

%�$��&�$�%&��� 

A) >5D47GNFEO ?4DO 7><>?>7<G=OE 
ED><>E><  
�) > ?>?NE4< D4EE>4OFEO 
46GED><4F<4=O5 ED><>E><O 

B) ?D><EE>4OF >>=NN74F<O < 
>D>EE<=7>65D  
�) ?D><EE>4<F D54G>F<O G<E?4 
ED><>E><  
�) ?> >>>=G4=<< ?D>F5EE4 >5D47GNFEO 
465 4>G5D=<5 

>?5F>< 

%��%��/ ������/ ���&�� 

1) <<F>7 

2) <5=>7 
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�) E>5?N445FEO <45=F<G=>EFL 
=4E?54EF65==>= <=D>D<4F<< =>6OE 
>?5F>> <4F5D<=E>>= >?5F>5 

 

IV. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 
 

�EFG?<F5?L=O5 <E?OF4=<O ?> 5<>?>7<< 4?O ?>EFG?4NM<E =4 =4?D46?5=<O 
?>47>F>6>< 54>4?46D>6 ?D>6>4OFEO 6 D>D<5 ?<EL<5==>7> F5EF<D>64=<O. �>7<>6=> 
?D>6545=<5 6EFG?<F5?L=>7> <E?OF4=<O E <E?>?L7>64=<5< 4<EF4=F<>==OE 
F5E=>?>7<=. �D>4>?6<F5?L=>EFL F5EF<D>64=<O 3 60 <<=GF. 

�4 M>74<5=5 ?D54?>65=> 4?O 6O?>?=5=<O 15 F5EF>6OE 7444=<=, <7 >>F>DOE 
10 7444=<= 547>6>7> GD>6=O < 5 7444=<= ?>6OL5==>= FDG4=>EF<. �444=<O 547>6>7> 
GD>6=O >F5=<64NFEO 6 5 54??>6, 7444=<O ?>6OL5==>= FDG4=>EF< 3 6 10 54??>6. 

�5<FGD<5=F <4>E<<4?L=> <>65F =45D4FL 100 54??>6.  
�5<FGD<5=FO, =45D46L<5 ?> 100-54??L=>= L>4?5 >>?<G5EF6> 54??>6 <5=55 

GEF4=>6?5==>7> �D46<?4<< ?D<5<4 GD>6=O, ?>?GG4NF =5G4>6?5F6>D<F5?L=GN 
>F5=>G. 

V. �E>55==>EF< EFDG>FGDO 7444=<= < E<EF5<O >F5=<64=<O  
?D< ?D>6545=<< 6EFG?<F5?L=OE <E?OF4=<=  

6 D>D<5 E>55E54>64=<O 

� E?GG45 ?D>6545=<O 6EFG?<F5?L=>7> <E?OF4=<O 6 D>D<5 E>55E54>64=<O 6 
EFDG>FGDG M>74<5=4F<>==>= D45>FO < E<EF5<G >F5=<64=<O 6=>E<FEO DO4 
<7<5=5=<=. �5M4O ?D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O =5 ?D56OL45F 

60 <<=GF. 
�4 M>74<5=5 ?D54?>65=> 4?O 6O?>?=5=<O 15 7444=<=, <7 >>F>DOE 10 7444=<= 

3 F5EF>6O5 7444=<O 547>6>7> GD>6=O < 5 7444=<= ?>6OL5==>= FDG4=>EF<. 
�5<FGD<5=F <4>E<<4?L=> <>65F =45D4FL 100 54??>6. 

�4>E<<4?L=>5 >>?<G5EF6> 54??>6 74 7444=<O 547>6>7> GD>6=O 3 50 54??>6. 
�4>E<<4?L=>5 >>?<G5EF6> 54??>6 74 7444=<O ?>6OL5==>= FDG4=>EF< 3 50 

54??>6. 
�D<F5D<< >F5=<64=<O 7444=<= 547>6>7> GD>6=O: 

" 45<FGD<5=F 6O5D4? ?D46<?L=O= 64D<4=F >F65F4 < ?D46<?L=> < ?>?=> 
?>OE=<? 6O5>D >F65F4 3 5 54??>6; 

" 45<FGD<5=F 6O5D4? ?D46<?L=O= 64D<4=F >F65F4, => 4>?GEF<? =5F>G=>EF< 6 
?>OE=5=<< 6O5>D4 >F65F4 3 3 54??4; 

" 45<FGD<5=F 6O5D4? =5?D46<?L=O= 64D<4=F >F65F4 / =5 >F65F<? 3 0 54??>6. 
�D<F5D<< >F5=<64=<O 7444=<= ?>6OL5==>= FDG4=>EF<: 
" 45<FGD<5=F ?D46<?L=> 6O?>?=<? 7444=<5, ?D46<?L=> < ?>?=> ?>OE=<? 

6O5>D >F65F4, E6>5>4=> >?5D<D>64? >E=>6=O<< F5D<<=4<< < ?>=OF<O<<, 
?D<=OFO<< 6 5<>?>7<< 3 10 54??>6; 

" 45<FGD<5=F ?D46<?L=> 6O?>?=<? 7444=<5, => 4>?GM5=O >L<5>< <?< 
=5F>G=>EF< 6 ?>OE=5=<< 6O5>D4 >F65F4 3 7 54??>6; 
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" 45<FGD<5=F ?D46<?L=> 6O?>?=<? 7444=<5, => =5 E<>7 ?>OE=<FL E6>= >F65F 
3 4 54??4; 

" 45<FGD<5=F =5?D46<?L=> 6O?>?=<? / =5 6O?>?=<? 7444=<5 3 0 54??>6. 
�5<FGD<5=FO, =45D46L<5 ?> 100-54??L=>= L>4?5 >>?<G5EF6> 54??>6 <5=55 

GEF4=>6?5==>7> �D46<?4<< ?D<5<4 GD>6=O, ?>?GG4NF =5G4>6?5F6>D<F5?L=GN 
>F5=>G. 

 

VI. $5>><5=4G5<4O ?<F5D4FGD4 

 

�E=>6=4O ?<F5D4FGD4 

1. �=4EF4E>64 �.�. �5M4O 5<>?>7<O. �<44>F<G5E><5 <4F5D<4?O. 3 �.: 
�5=F4=4-�D4D, 1997. 

2. �>744=>64 &.�., %>?>4>64 �.�. �<>?>7<O. %?D46>G=<> 4?O 
EF4DL5>?4EE=<>>6 < ?>EFG?4NM<E 6 6G7O. 3 �.: �%&-?D5EE, 2006. 

3. �>?7>64 �.�. %5>D=<> 7444G ?> >5M5= 5<>?>7<< 4?O ?>EFG?4NM<E 6 
�'�O. 3 �.: �=<>E 21 65>, 2005. 

4. �4E4D>6 �.�., �4<>=F>6 %.�., %>=<= �.�. �5M4O 5<>?>7<O: 'G55. 4?O 10 
3 11 >?. >5M5>5D47>64F. 'G55. 746545=<=  - �.: �D>D4, 2005.  

5. $<E -., %F5D=55D7 �. �F >?5F>> > 4F><4<: �??NEFD<D>64==>5 66545=<5 6 
<>?5>G?OD=GN 5<>?>7<N: �5D E 4=7?. 3 �.: �<D, 1988. 

6. %GE>64 &.%., �>7?>64 &.�., %>=<= �.�. �5M4O 5<>?>7<O. 10 3 11 >?.: 
$45>G4O F5FD44L > GG55=<>G / ?>4 D54. �.�. �4E4D>64. 3 �.: �D>D4, 2003. 

8.  �D<>EG=>6 �. �., �4E5G=<> �. �. ->>?>7<O. 10 (11) >?4EE: 'G55. 4?O 
5M5>5D47>64F. GG55. 746545=<=. 5-5 <74., 4>D45. �.: �D>D4, 2001. 3 256 E 

9.  $5=<5DE �. $. �D4F><= E?>64DL 5<>?>7<G5E><E F5D<<=>6: �=. 4?O 
GG<F5?O. 3 2-5 <74.  �.: �D>E65M5=<5, 1995. 3 368 E. 

10.   $5=<5DE �. $. �4G4?4 M>>?>7<G5E><E 7=4=<=. �.: �744F5?LEF6> 
��-�', 1993. 3 261 E. 

11.   -=F<>?>?54<O 4?O 45F5=. �?46. $54. �. �. �>?>4<=.�.: �64=F4+, 2001. 3 

448 E.  
13.  �4E4D>6 �.�, �GEF4D<= �.�. �5M4O 5<>?>7<O: F5EFO, 6>?D>EO, 7444=<O. 

3 �.: �D>E65M5=<5, 2003. 
16.  ,<L><=E>4O �.�. �5=5F<>4 < E5?5>F<O: &5>D<O. �444=<O. �F65FO. 3 

%4D4F>6: �<F5=, 2005. 
 

�>?>?=<F5?L=4O ?<F5D4FGD4 

1. �.�. �OE>F>4O FD5=465D ?> >5M5= 5<>?>7<< 4?O GG4M<EEO 10-11 >?4EE>6 
< ?>EFG?4NM<E 6 �'�O. &D5=<D>6>G=O5 7444G< 3 �>?7>7D44: 'G<F5?L,2005. 

2. �.�. �OE>F>4O �5M4O 5<>?>7<O 9-11 >?4EEO: D47=>GD>6=56O5 
G?D46=5=<O < F5EF>6O5 7444=<O3 �>?7>7D44: 'G<F5?L,2008. 

3. &.�. �D>=<=4. �D4>F<G5E>>5 ?>E>5<5 E 7444=<O<<.- �.:$>DG<-<=FD4, 
2009. 
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4. �.�. �5D=5D. 'D>>< 5<>?>7<<. �5M4O 5<>?>7<O.10-11 >?4EEO. &5EFO, 
6>?D>EO, 7444G<.- �.: ->E<>, 2005. 

5. �.�. �4E5G=<> �6F>DE>4O ?D>7D4<<4 ED54=57> (?>?=>7>) >5M57> 
>5D47>64=<O ?> 5<>?>7<< 10-11 >?4EEO. 3 �.: �D>D4, 2010. 

6. �.�. �44=>6<G, �.�. %F4D<>>64,�.�. �446<564, �. ..-5?G>>64 �<>?>7<O 
5-11>?4EEO:D4765D=GF>5 F5<4F<G5E>>5 ??4=<D>64=<5 3 �>?7>7D44: 'G<F5?L, 2009 

7. / ?>7=4N <<D; �5FE>4O M=F<>?>?54<O: �<D<5<<. �6F>D �.$.%5D7556; - 

�.: ��� «$<D<4 «�744F5?LEF6> �%&»»; ��� «�EFD5?L», 2011. 3 480 E.: <?. 
8. �45>D4F>D=O= ?D4>F<>G<. �<>?>7<O 6-11 >?4EE (GG55=>5 M?5>FD>==>5 

<744=<5), 2004. 
9. �.�.%>D>><=4. &5<4F<G5E><5 74GUFO ?> 5<>?>7<< 6 10-11 >?4EE4E - 

�.:%D5D4, 2008. 

 

 

  

 


